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TSV CHFRIALT @75 [m] 1 1 = 1
TEOFERERE ¢ 250 & T 1 1 = 1
RLXFE H=0.70
TEUFASKSEET C18 $250 |HEFr 1 1 = 1
Tto#HA ¢ 250
LY UKy AR T SREEH: H=100 & 1 1 = 1
Tto#HA ¢ 250
LY UK vy AR T L T#& H=150 & 1 1 = 1
[sniFC 0z ¢ 250
LY UK vy AR T JEEB (FAfZ) H=40 | & 1 1 = 1
BHIRBHER)—JHET ¢ 75 m 10.2 10.247 = 10.247
HRRT-7T W=50 m 95 9.467 = 9467
ThE 2f&
ERRY-MT W=150 m 8.8 8.829 = 8829
EKEHERT IR EEML m 10.2 10.247 = 10.247
(+T]
HPPE ¢ 75
EHILI® MEEGD m 43 2.8 1.5 = 43
HPPE ¢ 75
EHLI® MEEGD m 35 35 = 35
HPPE ¢ 75
EHILI® M EEE m 1.8 1.8 = 18
[+88T]
(W=250mm)
BEMXIREAET L=2.00 m 35 35 = 35
XREFEBET 1% m 35 35 = 35




Bk HPPE ¢ 75 BIEHRE BoNVEFE RO = ZYVE = 0.25
Z v . .
Ws it # | oo
B opk | B s |weloww | & s |mslowi | B sEe ok B s B ok E s
1 PP 0.836| 2 PP 0.758| 22 PP 0.760| 23 PP 0.709| 25 PP 0.709 3.772 1.228 5
0.84 0.76 0.76 0.71 0.71 7%
24 PP 1.170] 26 PP 0.574 1.744 3.256 2
1.17 0.57 23 5% 23 %
SV —rxRE® HPPE ¢ 75 L =5,000 2 VN 5.516 4.4841 7




NO. 3 T ® T ® T
HPPE & 75mmBE K & 7 5% 43 =EE L 3.5 =EE L 1.8 <=EEL “EE L “EE L
(H8) (H8) ($18)
£ i i 1’ it EEBE

AsEhZE R 2.00 8.60 2.00 7.00 2.00 3.60 (19.20) 19)
LM T t=15cm T m

AsEhZE R 0.60 2.58 0.90 3.15 0. 60 1.08 ( 6.81) 7)
SERERT [t=10cmU T m2

BHO. 28m3 0.44 1.89 1. 36 4.76 0.46 0.83 ( 7.48) 7)
S PRIE T Myt m3

BHO. 28m3 0.17 0.73 0.26 0.91 0.17 0.31 ( 1.95) 2)
BIERT BEW m3

BHO. 28m3 0.15 0. 65 0.92 3.22 0.22 0.40 ( 4.27) 4)
BIERT HES m3

(RC-30) 0. 60 2.58 0.90 3.15 0. 60 1.08 ( 6.81) 7)
TrERET t=10cm m2

(RM-30) 0. 60 2.58 0.90 3.15 ( 5.73) 6)
LIERET t=12cm m2

BAEZEH As13mm 0. 60 2.58 0.90 3.15 0. 60 1.08 ( 6.81) 7)
IR E R t=3cm m2

(RC-30) ( ) )
PR T t=10cm m2

BEMAAs13mm ( ) )
IR E R8I t=3cm m2
RianT 0.27 1.16 0.34 1.19 0.22 0.40 ( 2.75) 3)
() 4tDT m3
RitasnT 0.03 0.13 0.05 0.18 0.02 0.04 ( 0.35) 0.4)
(AS) 4tDT m3
ZAE 0.07 0.30 0.12 0.42 0.04 0.07 ( 0.79) 0.8)

TAI7VIEE




g5 = &  HPPE $75 L= 4.3

m
Brigib B = AR H= 07 m
R = 0090 X 009 X 1 / = 0.006
EEE = X X z / = 0.000
Im249
% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.79 — 0.05 )= m3 0.44
HH T BHO.28m3
LGRS AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
TR 14 0.44 —( 0.15 +— 0.90 )= m3 0.27
FEL A T ADT
FERA TAT7 IR 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




g5 = ©® HPPE ¢75 L= 3.5

m
Brigrd B = il () H= 15 m
BErlE = 0090 X 009 X x / = 0.006
EEE = X X z / = 0.000
Im249
%5 B 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.90 = m2 0.90
LT, BHO.28m3
b A BEE - 1.00 X 0.90 X( 1.56 — 0.05 )= m3 1.36
HEET BHO.28m3
LN AR 1.00 X 0.90 X 0.29 — 0.006 = m3 0.26
P AT BHO.28m3
LN T A 1.00 X 0.90 X 1.02 = m3 0.92
TIESHE T (RC-530)
t=10cm 1.00 X 0.90 = m2 0.90
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.90 = m2 0.90
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.90 = m2 0.90
FEL A5 T 4tDT eI+ WAL
AL | 1.36 —( 0.92 +— 0.90 )= m3 0.34
FEL AT DT
FEAL TRAT7 N 1.00 X 0.90 X 0.05 = m3 0.05
TN

TA77 VR 0.0 X 2.35 = t 0.12




g5 = &  HPPE ¢75 L= 1.8

m
Brigig B = B ) H= 0.7 m
BErlE = 0090 X 009 X x / = 0.006
EEE = X X z / = 0.000
Im249
% B 7 H = H o & & g =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
ASEEHEIR t=10cmbl F 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
P LA FEET - 1.00 X 0.60 X( 0.79 — 0.03 )= m3 0.46
HEE T BHO.28m3
LGRS AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HEE T BHO.28m3
LGRS A 1.00 X 0.60 X 0.37 = m3 0.22
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAS 0.46 —( 0.22 + 0.90 )= m3 0.22
TG 1. 4DT
FEASZ FRT I 1.00 X 0.60 X 0.03 = m3 0.02
TN

TA77 VR 0.02 X 2.15 = t 0.04




HPPE$100OmmEKEMIRT HEFEE

&M £3Y:0.70m~2.10m NO. 2
EHRA
I/ & _# KT A B H & B _Z
JKEEIKE A EFZOFESE L
HH RYIFLUE ¢ 100 x 5,000 7N 5.000 X =
JKEEKE A TL—UIVREE
FYIFLVE ¢ 100 % 5,000 X 2| gIERLY = 7875 YIEA
"YIFLVER L
EFF3245° A'UM ¢ 100 & 2 0490 x 2 = 0980
®YIFLUER L
AU 45° ¢ 100 & 2 0122 x 2 = 0244
"YIFLVER w2 L
EFfiZF-2 $100x ¢ 75 & 1 0.140 x 1 = 0.140
®YIFLUER L
FF-R ¢ 150 X ¢ 100 & (1) 0.149  x 1 = 0.149
RYIFLYE A
EFYryb ¢ 100 & 1
L
PCUaA bk ¢ 100 & 1 0042 X 1 = 0.042
PEf&EL Ot L
YN —-MEYF ¢ 100 #® 1 0.860 X 1 = 0.860
BEIER  HPPE = 10.290
RLXFE H=0.70
HUFAM%E CH1E ¢250 ® 1 1 = 1
250
HOFRALY UE YA SHEH: H=100 & 1 1 = 1
250
U FAVY VR YIR L& H=150 & 1 1 = 1
250
U FAVY VR YIR JEEB(FIfZ) H=40 | {& 1 1 = 1
A-TR FIE R EEER
RBLER-T ¢ 10058 m 136 10290 x {60 x (1 + 01) 50] = 13583
100mY
BBEEA) -7 AT m 6.3 10290 x 612 + 100 = 6.297
FRER To#
HERRT—T W=50 m 9.4 10290 - 0.860 = 9430
TIL= FTEER To#
BERAEE S —b W=150 21% m 8.9 9710 - 0.860 = 8850




HPPE$100OmmEKEMIRT HEFEE

MR EH T4 :0.70m~2.10m NO.
EHRA
I/ & _# KT A Hi H & -4
FE €FEomm|
A ToH
TYIFLVERMT ¢ 100 m 9.4 10290 —  0.860 = 0430
O#F) ZOEE F45 LT a4 EF750Y"
EFf(FT ¢ 100 a 2 + 2 + + = 2
O#F) mAUN Yok 272
EF#fF T ¢ 100 AT 2 + 1 + 1 = 2
RYIFLUE PC AV 45°
JICAVEFT ¢ 100 [m] 5 1 +( 2 yx 2 = 5
BHE W% ElEE PC
MZIVEFT ¢ 100 a 1 1 = 1
IV Vhyh—
BREREREXE I T 100 [m] 2 2 = 2
BEE s ERET $100 m 1.0 1.00 = 10
HYLFLE T $100 = 4 4 = 4
HUHHRET ¢ 100 = 1 1 = 1
RULXFE H=0.70
HUFBAHKEEAT C18 $250 |HEFr 1 1 = 1
TUIsH ¢ 250
VYR AR T T SREEH: H=100 & 1 1 = 1
TUIsH ¢ 250
LY UK v AR T L TE& H=150 & 1 1 = 1
TUIsH ¢ 250
LY UK v AR T JEEB(FIfZ) H=40 | {& 1 1 = 1
REIRBENER—THET $ 100 m 10.3 10.290 = 10.290
HRRT-7T W=50 m 9.4 9.430 = 9430
ThE 2f&
ERY-IT W=150 m 8.9 8.850 = 8850
EKEHERT BIREEMR m 10.3 10.290 = 10.290
(+T]
HPPE ¢ 100
EHLI® MEEGD m 5.6 5.6 = 56
HPPE ¢ 100
EHLI® MEEGD m 4.1 4.1 = 41
[+88T]
(W=250mm)
ZEMRIREAT L=2.50 m 41 41 = a1
XREFEBET 28% m 4.1 41 = a1




Bk HPPE ¢ 100 BEFHE BoNOVESTE  HEE = 0.3
& 8 A
W . e R | B & |FE ER
19 PP 1.858 0.622 2
2.52 1.86 % 5% 5%
1.590| 21 PP 1.907 1.503 2
1.59 1.91 5% 7% 7%
L —r = NES HPPE ¢ 100 7.875 2.125




NO. 2 +T [©) +T @
HPPE & 100mmZ K & # 5% 5.6 =@EE L 41 =EEL =EE L =EE L =EE L
[ESED) [ESED)
& i iR % E HEEE

AsERZE R 2.00 11.20 2.00 8.20 ( 19.40) 19)
UM T t=15cmA T m

AsERZE R 0.60 3.36 0.90 3.69 ( 7.05) 7)
SRR T |t=10cmA T m2,

BHO. 28m3 0.47 2.63 1.96 8.04 ( 10.67) 10)
HEARPRYE T Myt m3

BHO. 28m3 0.19 1.06 0.28 1.15 ( 2.21) 2)
HIERT BEW m3

BHO. 28m3 0.15 0.84 1.49 6.11 ( 6.95) 7)
HIERT FHEL m3

(RC-30) 0. 60 3.36 0.90 3.69 ( 7.05) 7)
TrERET t=10cm m2

(RM-30) 0. 60 3.36 0.90 3.69 ( 7.05) 7)
LB T t=12cm m2

BAEFH As13mm 0. 60 3.36 0.90 3.69 ( 7.05) 7)
ERE{REIR t=3cm m2

(RC-30) ( ) )
PRAET t=10cm m2

BRI A s13mm ( ) )
ERE{RE IR t=3cm m2
RitunT 0.30 1.68 0.30 1.23 ( 2.91) 3)
(8 4tDT m3,
RitunT 0.03 0.17 0.05 0.21 ( 0.38) 0.4)
(AS) 41DT m3,
ZAE 0.07 0.39 0.12 0.49 ( 0.88) 0.9)

TAI7VI5E




i @ HPPE 100 L= 5.6

m
Brigib B = AR H= 07 m
R = 0130 X 0130 X 1 / = 0.013
AR = X X z / = 0.000
Im249
% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.83 — 0.05 )= m3 0.47
HH T BHO.28m3
LGRS AR 1.000 X 0.60 X 0.33 — 0.013 = m3 0.19
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
L% L 047 —( 0.15 =+ 0.90 )= m3 0.30
FEL A T ADT
FERA TAT7 IR 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




g5 = @ HPPE 100 L= 4.1

m
Brigib B = AR H= 21 m
R = 0130 X 0130 X 1 / = 0.013
AR = X X z / = 0.000
Im249
% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.90 = m2 0.90
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.90 X( 2.23 — 0.05 )= m3 1.96
HH T BHO.28m3
LGRS AR 1.000 X 0.90 X 0.33 — 0.013 = m3 0.28
HH T BHO.28m3
LG T A 1.00 X 0.90 X 1.65 = m3 1.49
TIESHE T (RC-530)
t=10cm 1.00 X 0.90 = m2 0.90
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.90 = m2 0.90
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.90 = m2 0.90
FEL A5 T 4tDT el WAL
FEAA A 1.96 —( 1.49 = 0.90 )= m3 0.30
FEL A T ADT
FERA TAT7 IR 1.00 X 0.90 X 0.05 = m3 0.05
AL

TA77 VR 0.0 X 2.35 = t 0.12




HPPE®150mmEd KETh

BT HEIHEES

R 020 25
RS W 4 :0.70m~2.10m NO, 1
LR
T £ & B TE H x4 & F %
JKEEKE A EFZONEE L
HH MYIFLVE ¢ 150 X 5,000 x 3 5000 x 3 = 15.000
JKEEIKE A JL—VIVKEE
"YIFLVE ¢ 150 % 5,000 x 6, UIERLY = 27656 YIERA
FIIFLVER L
EFF345° AN ¢ 150 & 1 0.620 X 1 = 0.620
FIIFLVER L
EFmI545° A'UM ¢ 150 & 4 0460 X 4 = 1.840
FIIFLVER L
MAUR45° ¢ 150 & 4 0170 X 4 = 0.680
FIIFLVER L
MAUN11 1/4° ¢ 150 & 2 0078 X 2 = 0.156
FIIFLVER L
MF-R ¢ 150 x ¢ 100 & 1 0.254 X 1 = 0254
FYIFLVE R P
EFYfyb ¢ 150 & 5 7 - 2 = 5
L
Kfiz ZELAZRE @250 X ¢ 150 & 1 0670 x 1 = 0670 BEE#
KR H5kiR R ¢ 250 & 1 1 = 1] BRI
it ¢ 250 &
L
PCTaA bk ¢ 150 & 1 0039 X 1 = 0.039
L
PPUIAURAEE ¢ 150 % 75 & 1 0098 X 1 = 0.098
PEf&EL Ot L
YN - F ¢ 150 = 1 1020  x 1 = 1.020
PEf&EL Ot GF 7.5K L [E-153
EBHRATEE ®100% ¢ 75 = 2 0930 x 3 = 2790 HkieEE
(GF7.5k) L=500
25U EE 75 & 1
P
GF-RFERAA R vk ¢ 75 7.5K " 2 3 - 1 = 2
@75 7.5K SEAAE
IV HFM GFA'Rryb-SUSH IWob| #H 3 4 - 1 = 3
wWiEesHA SEAAE
ISUCHEEE 75 & 2 3 - 1 = 2
FCD&EILN -3 RS EA GF 7.5K EkAE
-V EWER @75 x 150H = 1 2 - 1 = 1
FCD&+y7 RS EA GF 7.5K
-V EWER @75 x 150H = 1
75K Z &Y
EEBIERNARERS ¢ 25 = 2
fEOyr H=500 X 1
BEER  HPPE = 50.823




HPPE$150mmickEfiRT HESHES

SRS £ 451:0.70m~2.10m NO. 1
B H iR
T - BT E Hly # & B =
RLRFE H=1.20
TOFREM%E CH15  ¢250 54 1 1 1
¢ 250
HEOFRALY VR YA SHEEH: H=50 & 1 1 1
¢ 250
HEOFRALY VR YA L& H=150 & 1 1 1
¢ 250
EOFRALY VR YA &R H=200 & 1 1 1
¢ 250
EOFRALY VR YA £ H=300 & 1 1 1
¢ 250
HEUFRAVY VR IR | EER(HR) H=40 | {& 1 1 1
¢ 500 H=0.70 H=1.20
ERFRAKE Af3E vy | K 2 1 1 2
¢ 500
ERFRALY VR YIR L& H=200 & 2 1 1 2
¢ 500
ERFRALY VR YIR T& H=300 & 2 1 1 2
¢ 500
ERFRALY VR YIR [E&R (Ff2) H=40 | {& 2 1 1 2
A)-TR FERY EER
RELER-7 ¢ 150/ m 67.1 50.823 {60 x (1 + 01) = 50) 67.086
100mY)
BBEHER)-TAT-7 m 42,5 50.823 836 + 100 42.488
EBRERE YR He%
HRRT—7 W=50 m 47.0 50.823 1020 - 2790 47.013
TILE FTEHIER T HARE
BERAEE S —b W=150 2f& m 46.1 49.870 1020 - 2790 46.060




HPPE$150mmickEfiRT HESHES

R 020 25
MR T4 :0.70m~2.10m NO. 1
LR
T £ & B TE {04 i F %
FHE (BT
& T
F)IFLVERMA T ¢ 150 m 498 50823 — 1.020 = 49.803
O#%F) ZOEE Fras5 WAV
EFf¢FT ¢ 150 m] 12 3 + 1 + 4 x 2 = 12
QO#%F) Yok
EFi¢FT ¢ 150 [Elz0s 5 5 = 5
RYIFLVE PP% 1h45° 11 HF-R
MZhIVEF T ¢ 150 o 16 1 +( 4 + 2 + 1 )x 2
PC
1 = 16
®YIFLVE PP
MZhIVEF T ¢75 [m] 1 1 = 1
BT 5 EliEE A%
MZhIVEFT ¢ 250 [m] 1 1 = 1
BT 5 EliEE PC
MZhIVEFT ¢ 150 [m] 1 1 = 1
IV HBFET @75 (7.5K) [m] 3 3 = 3
vy Uhyh— BEE%
BRERSREXE VIR T ¢ 250 m] 2 2 = 2
BRI ERET ¢ 250 m 1.0 1.00 = 10
F)IFLU BT T ¢ 150 m] 15 15 = 15
TUHEFRET ¢ 150 = 1 1 = 1
EREFRET 75 = 2 2 = 2
RUXFE H=1.20
U ASKERAGT CH1E ¢250  HEfT 1 1 = 1
TUIsH ¢ 250
LY URyIARIT T SHEEH: H=50 & 1 1 = 1
TUIsH ¢ 250
LY URyIARIT T L& H=150 & 1 1 = 1
TUIsH ¢ 250
LY URyIARIT T &R H=200 & 1 1 = 1
TUIsH ¢ 250
LY URyIARIT T T& H=300 & 1 1 = 1
TUIsH ¢ 250
LY URyIARIT T JEER (Afz) H=40 @ {A 1 1 = 1
¢ 500 H=0.70 H=1.20
ERFAKERGT Af3s vy | &er 2 1 + 1 = 2
EXRFH ¢ 500
LY UR Y ARIT T & H=200 & 2 1 + 1 = 2
EXRFH ¢ 500
LY UR Y ARIT T T& H=300 & 2 1 + 1 = 2
EXRFH ¢ 500
LY UR Y ARIT T [E&R (Ff2) H=40 | {& 2 1 + 1 = 2




HPPE$150mmickEfiRT HESHES

RS 451 :0.70m~2.10m NO.
LR
TiE Z__# BRTZ A7 5 & :2
BRIZAHER)—JHET ¢ 150 m 50.8 50.823 50.823
HRRT-7T W=50 m 47.0 47.013 47013
T 2f%
BRI W=150 m 46.1 46.060 46.060
EKEERT BRI EEMR m 50.8 50.823 50.823
[+1]
HPPE ¢ 150
EHIETTOD MEEGED m 268 219 49 26.8
HPPE ¢ 150
EHIETTO MEEGED m 10.3 10.3 103
HPPE ¢ 150
1 | e Q) M EELE) m 12.8 12.8 128
[t8T]
(W=250mm)
ZEMRAREAMET L=250 m 103 103 10.3
XREERET 28% m 103 103 10.3




Bk HPPE ¢ 150 BIEFHE BoNOVESTE  HEE = CUVE = 0.35
Z o & _ ]
W | om | o
o ok B s |E5 ok B s B ok B S |ES Bk B S |ES BR | E &

3 PP 4.022 5 PP 0.440( 8 PP 0.370 4.832 0.168 3

4.02 0.44 0.37 5% 5% 7%
4 PP 1.440| 10 PP 1.810| 15 PP 1.103 4.353 0.647 3

1.44 1.81 1.10 7% 7% 7%
6 PP 4.740 4.740 0.260 1

4.74 7% 5% 7% 5% 7%
7 PP 3.7101 9 PP 0.445| 11 PP 0.376| 12 PP 0.434 4.965 0.035 4

3.71 0.45 0.38 0.43 % 53
13 PP 4.234| 16 PP 0.500 4.734 0.266 2

4.23 0.50 % 53 % 7%
14 PP 2.376| 17 PP 1.656 4.032 0.968 2

238 166 J% 7% 5% 7%
S —r T RE® HPPE ¢ 150 L = 5,000 6 ;N 27.656 2.344| 15




LTI FEHEHEY E £
Woos | e e i % || W s | mm e i %
+T O I +T @ HiE
AL — 1.20 — — Bl — 0.70 — —
4.900 1.20 1.20 5.880 0.620 0.60 0.65 0.403
— 0.70 — — 5.900 0.60 0.60 3.540
16.700 0.70 0.70 11.690 1.900 0.70 0.65 1.235
5.200 0.70 0.70 3.640 4.350 0.70 0.70 3.045
& &t 26.800 21.210 & &t 12.770 8.223
TTRE = 26.800 m TR = 12.770 m
FH MY =  21.210 + 26.800 = 0.79 m T MY =  8.223 <+ 12.770 = 0.64 m




NO. 1 T @ T [@) T ®
HPPE & 150mmBo K & #7538 268 =R L | 103 =KL | 12.8 =L | EE L EE L
[EZED) [EZE) (€3
£ i i 1 E FEt =

AsERZE R 2.00 53. 60 2.00 20. 60 2.00 25. 60 99.80 ) ( 100 )
UM T t=15cmA T m

AsERZE R 0.60 16. 08 0.90 9.27 0. 60 7.68 33.03 ) ( 33)
SRR T |t=10cmA T m2,

BHO. 28m3 0.55 14.74 2.01 20.70 0.47 6.02 41.46 )| ( 40 )
HEMKET  (ME+ m3

BHO. 28m3 0.20 5.36 0.32 3.30 0.20 2.56 11.22)|[( 10)
HERT  |BAER m3

BHO. 28m3 0.20 5.36 1.49 15. 35 0.19 2.43 23.14 )| ( 20 )
HHIERT FET m3

(RC-30) 0. 60 16. 08 0.90 9.27 0. 60 7.68 33.03 ) ( 33)
TRERET t=10cm m2

(RM-30) 0. 60 16. 08 0.90 9.27 25.35 ) ( 25)
LERET t=12cm m2

BAEZH As13mm 0. 60 16. 08 0.90 9.27 0. 60 7.68 33.03 ) ( 33)
ERE{REIR t=3cm m2
BiIanT 0.33 8.84 0.35 3.61 0.26 3.33 15.78 )| ( 20 )
(8 41DT m3,
BiIanT 0.03 0.80 0.05 0.52 0.02 0.26 1.58 )| ( 2)
(AS) 41DT m3,
ZAE 0.07 1.88 0.12 1.24 0.04 0.51 3.63 ) ( 3.6)

TAI7VI5E




g5 = @ HPPE $150 L= 26.8 m

Brigrd B = il () H= 0.79 m
EHRE = 0180 X 0180 X x / 4 = 0.025
2R = X X z /4 = 0.000
Im249

%5 B 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
b A BEE - 1.00 X 0.60 X( 0.97 — 0.05 )= m3 0.55
HEET BHO.28m3
LN AR 1.00 X 0.60 X 0.38 — 0.025 = m3 0.20
P AT BHO.28m3
LN T A 1.00 X 0.60 X 0.34 = m3 0.20
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
AL | 0.55 —( 0.20 + 0.90 )= m3 0.33
FEL AT DT
FEAL TRAT7 N 1.00 X 0.60 X 0.05 = m3 0.03
TN

TA77 VR 0.03 X 2.35 = t 0.07




g5 = @  HPPE $150 L= 10.3 m
Brigib B = AR H= 21 m
R = 0180 X 0180 X 1 / = 0.025
EEE = X X z / = 0.000
Im249

% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.90 = m2 0.90
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.90 X( 2.28 — 0.05 )= m3 2.01
HEET BHO.28m3
LGRS AR 1.000 X 0.90 X 0.38 — 0.025 = m3 0.32
P AT BHO.28m3
LG T A 1.00 X 0.90 X 1.65 = m3 1.49
TIESHE T (RC-530)
t=10cm 1.00 X 0.90 = m2 0.90
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.90 = m2 0.90
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.90 = m2 0.90
FEL A5 T 4tDT eI+ WAL
L% L 201 —( 1.49 = 0.90 )= m3 0.35
FEL A T ADT
FERA TAT7 IR 1.00 X 0.90 X 0.05 = m3 0.05
AL
T AT 7/ 0.0 X 2.35 = t 0.12




g5 = @  HPPE $150 L= 12.8 m

Braié #F = s ) H= 0.64 m
EHRE = 0180 X 0180 X x / 4 = 0.025
2R = X X z /4 = 0.000
Im249
% B 7 H = H o & & g =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
ASEEHEIR t=10cmbl F 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
P LA FEET - 1.00 X 0.60 X( 0.82 — 0.03 )= m3 0.47
HEE T BHO.28m3
LGRS AR 1.00 X 0.60 X 0.38 — 0.025 = m3 0.20
HEE T BHO.28m3
LGRS A 1.00 X 0.60 X 0.31 = m3 0.19
BEAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAG 1 0.47 —( 0.19 + 0.90 )= m3 0.26
TG 1. 4DT
FEASZ FRT I 1.00 X 0.60 X 0.03 = m3 0.02
TN

TA77 VR 0.02 X 2.15 = t 0.04




BERE 6 SOmmEckKETRRT HEFHES

SRIER:L=1.650m(1.100m) {LH1F 50 1%

R &M T4Y:0.70m NO. 4
EH R
I7E £ _# B o % g & m _Z
L
AN ISUHTFE ¢ 75X ¢ 50 & (1) 0120 x 1 = 0.120
KEEKE A
BESA=VIHE ¢ 50 X 4,000 m 1.4 0600 + 0550 + 0.200 = 1.350
BESA=VSHER
IR $50 & 5
BESA=V S HER
—v7IL ¢ 50 & 2
BESA=VSHER
7354 ¢ 50 @ 1
FCD77vY (A3JLA) ¢ 50 & 1
GF-RFERAH R Yk ¢ 50 7.5K 54 1
¢ 50 7.5K
73UV F RFH Rk 8 1
L
Fly—MEYIF ¢ 50 P 1 0180 x 1 = 0.180
70V hRER ¢ 50 & 1
BEEER DIP = 0.300
BEEZER WP = 1350
RUKXAE H=0.70
Tt A%E CH15 ¢ 250 >4 1 1 = 1
Tt A ¢ 250
VYUK )RR T LT H=300 J[E3] 1 1 = 1
¢ 250
TUHFALY UEYIZ | EES(AR) H=40 | & 1 1 = 1
A7 R Bl iR BEEER
BBERER)-7 ¢ 50/ m 04 0300 x {60 x (1 + 01) + 50 = 0396
100mt)
RBEHER)-TRT-7 m 0.1 0180 x 510 <+ 100 = 0.092
BERIER Tt
EHRT—T W=50 m 0.1 0300 - 0.180 = 0.120
THEIER T
BEESS — W=150 2& m 0.9 1100 - 0.180 = 0920




BERE 6 SOmmEckKETRRT HEFHES

BT 0 70m NO. 4
EH R
I7E £ _# R T % g & m _Z
FE [FE+T]
SHHRERT T ¢ 50 m 03 0.300 0.300
T
I3V MFET $50 (7.5K) [m] 2 1 x 2 2
MEMRT ¢ 50 m 14 1.350 1.350
2A) I
HERLAAEET $50 a 5 5 5
MEYIT ¢ 50 n 3 3 3
fHERLYYINT ¢ 50 o 6 6 6
HOHFHET ¢ 50 = 1 1 1
RUXAE H=0.70
HOFAGEREMT Cl18 ¢250 |HEFR 1 1 1
Tt HA ¢ 250
VYUK )RR T L TF& H=300 & 1 1 1
Tt HA ¢ 250
LY Uk AR T E& (M) H=40 | 1@ 1 1 1
aVy—hEIAT ¢ 64~77mm B 1
BHEIREHER—THEL ¢ 50 m 03 0.300 0.300
EHRT-7T W=50 m 0.1 0.120 0.120
2%
BEHRY-FT W=150 m 0.9 0.920 0.920
BKEERT BR % B m 1.7 0300 + 1350 1.650
[+T]
VLP ¢ 50
A+ TO® TS BEEE) m 1.1 1.1 14




NO. 4 T [©)
VLP & 50mmi k & 7528 1.1 =EEL =EE L =EE L =EE L =EE L
(#538)
& i iR % E HEEE

AsERZE R 2.00 2.20 2.20) 2)
UM T t=15cmA T m

AsERZE R 0. 60 0. 66 0.66 ) 0.7)
SRR T |t=10cmA T m2,

BHO. 13m3 0.44 0.48 0.48) 0.5)
HEARPRYE T Myt m3

BHO. 13m3 0.15 0.17 0.17) 0.2)
HIERT BEW m3

BHO. 13m3 0.22 0.24 0.24) 0.2)
HIERT FHEL m3

(RC-30) 0. 60 0. 66 0.66 ) 0.7)
TrERET t=10cm m2

(RM-30) ) )
LB T t=12cm m2

BAEFH As13mm 0. 60 0. 66 0.66 ) 0.7)
ERE{REIR t=3cm m2

(RC-30) ) )
PRAET t=10cm m2

BRI A s13mm ) )
ERE{RE IR t=3cm m2
RitunT 0.20 0.22 0.22) 0.2)
(8 2tDT m3,
RitunT 0.02 0.02 0.02) 0.02)
(AS) 2tDT m3,
ZAE 0.04 0.04 0.04) 0.04)

TAI7VI5E




g5 = @ vip 50 L= 11 m

Braié #F = s ) H= 0.7 m
EHE = 0060 X 0060 X x / 4 = 0.003
EEE = X X z /4 = 0.000
Im249
% B 7 H = H o & & g =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEHEIR t=10cmbl F 1.00 X 0.60 = m2 0.60
LT, BHO.13m3
P LA FEET - 1.00 X 0.60 X( 0.76 — 0.03 )= m3 0.44
HEE T BHO.15m3
SN R 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HEE T BHO.15m3
LGRS A 1.00 X 0.60 X 0.37 = m3 0.22
BEAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60

PR 1H (A # R As13mm, A7)

t=3cm 1.00 X 0.60 = m2 0.60
FELA 5T 2(DT eI+ WAL

TR 14 0.44 —( 0.22 = 0.90 )= m3 0.20
FET AT 2(DT

FEAL TRAT7 N 1.00 X 0.60 X 0.03 = m3 0.02
AL

TA77 VR 0.02 X 2.15 = t 0.04




BNERET BESEE8EE
EiE-OF EXEEH) IN=1)

k& T Y:0.70m NO.
& 4 R
IiE £ # BRTZE H % &7 BHR B _Z
H#
GFF-7.5K
PEF O H#H#RNTFE $150% ¢ 75 & 1] 0.930 0930 x 1 = 0930 GHA#E
RYIFLUER
EFY4 vk ¢ 150 & 2 2 = 2
@ 75- NSV E A
REIEERRE AR BO-75K = 1 1 = 1
¢ 75-H150-7.5K-Fz =2
F-VEEES FCD | RS EE LV - & 1 1 = 1
7.5K-fz =2
F9840I70 EE ¢ 75-H=250 Ve _
¢ 75-GFh' AryM B
750V B F SUS304BN-7.5K | #f 1 1 = 1
GF-RFERAH R vk $75 75K " 1 1 = 1
wWwesA
IS5V THREE ¢75 & 1 1 = 1
@ 500
HARERSE M35 54 1 1 = 1
AR ¢ 500
LY UiR'y9A MEYYY H=50 1& =
AR ¢ 500
LY UiR'y9R LE# H=200 & 1 1 = 1
AR ¢ 500
LY Vik'yhR fEER H=200 & =
HARRA @ 500
LY UiR'y9R TE& H=300 & 1 1 = 1
AR ¢ 500
LY UiR'y9R EEB (M) H=40 | {& 1 1 = 1




BNERETL HES5HES
ERE-OF ARG IN=1)
k& T Y:0.70m NO,
& 4 R
IiE £ # BRTZE g % & B _Z
FE (EHT)
2O#%F) Yok
EF#¢F T ¢ 150 AT 2 2
BpO
HARERET 75 = 1 1 HAKRR - iR
ISUTHMFT $75 7.5K a 1 1 (WE# - FEE) -+ (FiEE - FRTH)
¢ 500
HXERASEREMT M35 (&7 11
HXkIEHA ¢ 500
LY Uk yIAB T SHEEYYY" H=50 1&
HXkIEHA ¢ 500
LY Uk AR T L& H=200 1& 1 1
HXkIEHA ¢ 500
LY Uk yIAB T FfEE H=200 1&
HXkIEHA ¢ 500
LY Uk yIAB T T& H=300 & 1 1
HXkIEHA ¢ 500
LY Uk yIAB T EEB(AR) H=40 | & 1 1
X E#R #H/E 1815cm &0




foKEMRL (BBKEP150mm) REFHEE

R T48Y:0.60m NO. 5
EHRH
I £ & BHTE B % 8 B2
H#
HPPE FA (8585 8) AS47
YT 5 kg @150 X ¢ 20 #® 1 1 1
HPPE F(#5 85 5Y) B447
¢ 150 X ¢ 50 = 1 1 1
FCD#!
LEJKIEHR )R =ZREmE & 1 1 1
FhER
Lo AsE ¢ 250 #® 1 1 1
@250
U FAVY VR YIR L& H=300 & 1 1 1
@250
HUFAVY VR YIR KA (FH#Z) H=40 | & 1 1 1
FE €FEomm|
HPPE AS47
RKRETAAT ¢ 150 % ¢ 20 (5178 1 1 1
HPPE B447
¢ 150 X ¢ 50 ERT 1 1 1
MIf AS47 ERED
HHKEERT PE ¢ 20 (5178 1 1 1 L=7.1m
MIH B447° 1HRATEY
HHKEERT PE ¢ 50 (5178 1 1 1 L=7.3m
(+T]
PEP ¢ 254 F
#BAKEID B EEEE) m 6.8 6.8 6.8
PEP ¢ 50
#AKETIO s EEEE) m 7.0 7.0 7.0




NO. 5 T @ T @ T T T T T +T
FEAKE P20(B50) i 6.8 =EERL 7.0 =EEL =R L =R L =R L =R L =R L =R L
[EST)) (EH38)
& 7 i % B BHE

AsEZERR 2.00 13.60 2.00 14.00 27.60 ) ( 28 )
BT T t=15cmAF m

AsEfZERR 0.50 3.40 0.50 3.50 6.90 ) ( 1)
SRR T |t=10cmA T m2

BHO. 13m3 0.29 1.97 0. 31 2.17 4.14)|( 4)
AR YE T MEt m3,

BHO. 13m3 0.1 0.75 0.13 0.91 1.66 )| ( 2)
HWHERT BAL m3,

BHO. 13m3 0.08 0.54 0.08 0.56 1.10 )| ( 1)
HWHERT FHEL m3,

(RC-30) 0. 60 4.08 0. 60 4.20 8.28 )| ( 8)
TREET t=10cm m2

(RM-30) 0. 60 4.08 0. 60 4.20 8.28 )| ( 8)
TERET t=12cm m2

BAZH As13mn 0. 60 4.08 0. 60 4.20 8.28 )| ( 8)
PR {1818 t=3cm m2
EtusT 0.20 1.36 0.22 1.54 2.90 )| ( 3)
(£5) 2tDT m3,
EtusT 0.03 0.20 0.03 0.21 0.41)[( 0.4)
(AS) 2tDT m3
ZAE 0.07 0.48 0.07 0.49 0.97)|( 1)

TAITNb5R




g5 = @D PEP $25 LIF L= 68 m
Brigib B = BLE ) H= 06 m
R = 0030 X 0030 X 1 / = 0.00]
AR = X X z / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.50 = m2 0.50
LT, BHO.13m3
0T A BEE - 1.00 X 0.50 X( 0.63 — 0.05 )= m3 0.29
FAEE 1. BHO. 13m3
LN D PR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
FAEE 1. BHO. 13m3
LN A 1.00 X 050 X 0.15 = m3 0.08
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FELA 5T 2(DT el WAL
HEAA - 0.29 —( 0.08 = 0.90 )= m3 0.20
FEL A T 2tDT
FEA L TAT7 W EE 1.00 X 0.50 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




g5 = @  PEP 50 L= 7.0 m
Brigib B = BLE ) H= 0.6 m
R = 0060 X 0060 X 1 / = 0.003
EEE = X X z / = 0.000
Im249

% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.50 = m2 0.50
LT, BHO.13m3
70 DI A BEET - 1.00 X 0.50 X( 0.66 — 0.05 )= m3 0.31
HEET BHO.13m3
LN TEA A 1.00 X 050 X 0.26 — 0.003 = m3 0.13
HEET BHO.13m3
LG T A 1.00 X 050 X 0.15 = m3 0.08
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FELA 5T 2(DT eI+ WAL
L% L 0.31 —( 0.08 = 0.90 )= m3 0.22
LT 2tDT
FERA TAT7 IR 1.00 X 050 X 0.05 = m3 0.03
AL
T AT 7/ 0.03 X 2.35 = t 0.07




PEP$20 + $40mmiRRHGIKERR « BT HEFHES

R 3 060m. B4 NO., 6
EHIRA
I/ £ & FBHKTZE B % & B =
H# [RE&HKE]
DIP FH(#58%5Y) BATA
B L5 kEE $250 % 20 = 1 1 = 1
HPPEFA(#58%5Y) 247B
¢ 75% $40 = 1 1 = 1
#HEER
KBS+ ¢ 250(7.5K) = 1
#HEER
KBS+ ¢ 100(7.5K) = 1
B H L
BhEgEa o) —hk 18N-8-40BB m3 1 0800 X 1100 X 1.300 = 1144
L
pidb =g m2 5] ( 0800 + 1300 )X 1100 X 2 = 4.62
7% | UREHEKERSTT)
MIH BLTA 1ERAT LY
REEHEKEESR T PE ¢ 20 ERT 1 1 = 1| 156m
MIH 2478 1ERAT Y
REEHEKEESR T PE ¢ 40 ERT 1 1 = 1| 183m
8k
THIKERT @ 250 (7.5K) ERT 1
ek
THIKERT ¢ 100 (7.5K) ERT 1
avY)—rT 18N-8-40BB m3
BT m2
(REEHEKERET]
MIH BLTA 1ERAT LY
REEHGKERET PE ¢ 20 [E13i 1 1 = 1| 15.6m
MI 2478 ERED)
REEHGKERET PE ¢ 40 [E:130 1 1 = 1/ 183m
(1]
PEP ¢ 254
RELETD THEEEE) m 1.2 1.2 = 12
PEP ¢ 40
RELET@ dEEE) m 10 1.0 = 10
DIP ¢ 100
THIAKETR THEEEE) m 14 14 = 14
DIP ¢ 250
THIKET@D THEEEE) m 2.1 2.1 = 21
PEP ¢ 254
REHELTTO HEEEE) m 1.2 1.2 = 12
PEP ¢ 40
REHELTTO mdEEE) m 10 1.0 = 10
[£88T)
(W=250mm)
BREMAREARET L=2.50 m 36 36 = 38
FIRFERET 1B m 36 3.6 = 36




NO. 6 R+ T @ e+ T @ ikt T [©) ikt T @ WE+T @ WETT [@)
PEP & 20 § 40mmiR 3 #5K E ik - AT 1.2 “ER L 1.0 “ER L 1.4 “ER L 2.1 “ER L 1.2 “ER L 1.0 “ER L
[ESED) (#538) [ESED) [ESED) (H8) (#538)
& i iR % E HEEE

AsERZE R 2.00 2.40 2.00 2.00 2.00 2.80 2.00 4.20 ( 11.40) 1)
UM T t=15cmA T m

As&#ZE Rk (BHO. 13m3) 0.50 0. 60 0.50 0.50 0.50 0. 60 0.50 0.50 ( 2.20) 2)
SHERRIEFRT |t=10cmA T m2,

As&fiZE ki (BHO. 28m3) 1.20 1.68 1.50 3.15 ( 4.83) 5)
SRR T |t=10cmA T m2,

BHO. 13m3 0.14 0.17 0.16 0.16 0.15 0.18 0.16 0.16 ( 0.67) 0.7)
HEARERIE T Myt m3

BHO. 28m3 1.20 1.68 2.66 5.59  7.27) 7)
HEARPRYE T Myt m3

BHO. 28m3 ( ) )
HIERT BEW m3

BHO. 13m3 0.10 0.12 0.11 0.1 0.04 0.05 0.1 0.1 ( 0.39) 0.4)
HIERT FiES m3

BHO. 28m3 0.98 1.37 1.48 3.1 ( 4.48) 4)
HIERT FiES m3

(RC-30) 0.50 0.50 1.20 1.68 1.50 3.15 0.50 0. 60 0.50 0.50 ( 6.43) 6)
TrERET t=10cm m2

(RM-30) 0.50 0. 60 ( 0.60) 0.6)
LB T t=10cm m2

(RM-30) 1.20 1.68 1.50 3.15 0.50 0. 60 ( 5.43) 5)
LB T t=12cm m2

BAEZH As13mm 0.50 0. 60 0.50 0.50 1.20 1.68 1.50 3.15 0.50 0. 60 0.50 0.50 ( 7.03) 7)
ERE{RE IR t=3cm m2

BRI A s13mm ( ) )
ERE{RTE IR t=3cm m2
BRitunT 0.03 0.04 0.04 0.04 0.11 0.13 0.04 0.04 ( 0.25) 0.3)
(8 2tDT m3,
RitunT 0.15 0.21 1.02 2.14 ( 2.35) 2)
(8 4tDT m3,
RitunT 0.03 0.04 0.02 0.02 0.02 0.02 0.02 0.02 ( 0.10) 0.1)
(AS) 2tDT m3,
RitunT 0.06 0.08 0.08 0.17 ( 0.25) 0.3)
(AS) 41DT m3,
ZAE 0.07 0.08 0.04 0.04 0.14 0.20 0.19 0.40 0.05 0. 06 0.05 0.05 ( 0.83) 0.8)

TAI7VI5E




WS = i@ PEP sour L= 1.2

m
Brais B = i ) H= 0.3 m
BERElE = 0050 X 0030 X x / = 0.001
EEE = X X z / = 0.000
Im249
% B 7 H = H o & & g =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsBFIERK t=10cml{ T 1.00 X 0.50 = m2 0.50
LT, BHO.13m3
P LA FEET - 1.00 X 0.50 X( 0.33 — 0.05 )= m3 0.14
HEE T BHO.15m3
LGRS A 1.00 X 050 X 0.20 — 0.001 = m3 0.10
_F/EEAE T (RM-30)
t=10cm 1.00 X 050 = m2 0.50
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 050 = m2 0.50
FELA 5T 2(DT eI+ WAL
FEAS 0.14 —( 0.10 + 0.90 )= m3 0.03
FE TG 1. 2DT
FEASZ FRT I 1.00 X 0.50 X 0.05 = m3 0.03
TN

TA77 VR 0.03 X 2.35 = t 0.07




WS = gwire PEP $40 L= 1.0

m
Brigig B = B ) H= 0.3 m
BEREEE = 0050 X 0050 X 1 / = 0.002
EEE = X X z / = 0.000

Im249
% B 7 H = o & g =

LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsBFIERK t=10cml{ T 1.00 X 0.50 = m2 0.50
LT, BHO.13m3
P LA FEET - 1.00 X 0.50 X( 0.35 — 0.03 )= m3 0.16
HEE T BHO.15m3
LGRS A 1.00 X 050 X 0.22 — 0.002 = m3 0.11
TSR T (RC-530)
t=10cm 1.00 X 050 = m2 0.50
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 050 = m2 0.50
FELA 5T 2(DT eI+ WAL
FEAS 0.16 —( 0.11 =+ 0.90 )= m3 0.04
FE TG 1. 2DT
FEASZ FRT I 1.00 X 0.50 X 0.03 = m3 0.02
TN

TA77 VR 0.02 X 2.15 = t 0.04




Wi %

1.4

k@ DIP ¢ 100 L= m
Wi B B CEREIC B H= 07 m
= AR 0130 X 0130 X = / = 0.013
AR = X X z / = 0.000
Im2%0
% 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEHRER t=10cmEL T 1.00 X 1.20 = m2 1.20
i T, BHO.28m3
- DB - - B - 1.00 X 1.20 X( 1.08 — 0.05 )= m3 1.24
HIEE T BHO.28m3
SN A A 1.00 X 1.20 X 0.83 — 0.013 = m3 0.98
FE AR T (RC-30)
t=10cm 1.00 X 1.20 = m2 1.20
LB EAR T (RM-50)
t=12cm 1.00 X 1.20 = m2 1.20
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 1.20 = m2 1.20
FEL A5 T 4tDT el WAL
FHiAB 14 1.24 —( 0.98 = 0.90 )= m3 0.15
FEL A T ADT
FFRZL TATr /e 1.00 X 1.20 X 0.056 = m3 0.06
AL
TA77 VR 0.06 X 2.35 = t 0.14




BG5S = swxerzo DIP $250 L= 2.1 m

Brigrd B = il () H= 21 m
EHRE = 0270 X 0270 X o / 4 = 0.057
Sr#Co = 0800 X 1.100 X = (0.880
Im240
% B 7 H = o & =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsBFIERK t=10cml{ T 1.00 X 1.50 = m2 1.50
LT, BHO.28m3
b A BEE - 1.00 X 150 X( 1.82 — 0.05 )= m3 2.66
HEE T BHO.28m3
LGRS A 1.00 X 150 X 157 — 0.880 = m3 1.48

TIESHE T (RC-530)

t=10cm 1.00 X 1.50 = m2 1.50
_F/EEEAE T (RM=30)

t=12cm 1.00 X 1.50 = m2 1.50
PR 1H (A # R As13mm, A7)

t=3cm 1.00 X 1.50 = m2 1.50
BT T DT Al At

FHiAB 14 2.66 —( 1.48 = 0.90 )= m3 1.02
FEL A T ADT

FEAS TAT77 /PR 1.00 X 1,50 X 0.00 = m3 0.08
TAE

TA77 VR 0.08 X 2.35 = t 0.19




W5 = mzrr@ PEP sour L= 1.2 m

Brais B = i ) H= 0.3 m
EHRE = 0030 X 0030 X z / 4 = 0001
EEE = X X z /4 = 0.000
Im240
% B 7 H = H o & & g =
LR T
AsBFIERK t=10cml{ T 1.00 X 0.50 = m2 0.50
LT, BHO.13m3
P LA FEET - 1.00 X 050 X( 0.33 — 0.03 )— 0.001 =| m3 0.15
HEE T BHO.15m3
LGRS A 1.00 X 0.50 X 0.08 = m3 0.04

TIESHE T (RC-530)

t=10cm 1.00 X 0.50 = m2 0.50
_F/EEAE T (RM-30)

t=12cm 1.00 X 0.50 = m2 0.50
W EE IH (A ERIAs13mm, A 7))

t=3cm 1.00 X 0.50 = m2 0.50
FELA 5T 2(DT el WAL

FEAZL 1% 0.15 —( 0.04 = 0.90 )= m3 0.11
FEL A T 2tDT

FEAS TAT7NIEE 1.00 X 0.50 X 0.03 = m3 0.02
AL

TR 7P 0.02 X 2.35 = t 0.05




WrisES = mrir@ PEP $40 L= 1.0 m

Braié #F = s ) H= 0.3 m
BEHE S = 0050 X 0050 X x / 4 = 0.002
EEE = X X z /4 = 0.000
Im240
% B 7 H = H o & & g =
LR T
AsBFIERK t=10cml{ T 1.00 X 0.50 = m2 0.50
LT, BHO.13m3
P LA FEET - 1.00 X 050 X( 0.35 — 0.03 )— 0.002 =| m3 0.16
HEE T BHO.15m3
LGRS A 1.00 X 0.50 X 0.22 = m3 0.11

FIEEHE T (RC-30)
t=10cm 1.00 X 0.50 = m2 0.50

PR 1H (A # R As13mm, A7)

t=3cm 1.00 X 050 = m2 0.50
FELA 5T 2(DT eI+ WAL

FEAS 0.16 —( 0.11 =+ 0.90 )= m3 0.04
FET AT 2(DT

FEAL TRAT7 N 1.00 X 050 X 0.03 = m3 0.02
AL

TA77 VR 0.02 X 2.20 = t 0.04




HSRBKERILIHAT HEHES

Bk EfE- 07 B/KEDIP ¢ 250mm:L=18.600m DIP ¢ 100mm:L=7.800m DIP ¢ 75mm:L=7.000m

HPPE ¢ 75mm:L=3.400m HPPE ¢ 50mm:L=2.400m

MM T4Y:0.70m~1.20m NO, 7
E LR
TiE £ BRTZE | # & B %
FHE [ELEHET]
Bia DIP
BHSERET ¢ 250 m 18.6 18.600 = 18.600
BEE%
BBV T ¢ 250 [m} 7 18,600 /  3.000 = 7
Bia DIP
BHSERET ¢ 100 m 7.8 7.800 = 7.800
BEE%
BBV T ¢ 100 [m} 3 7.800 / 3.000 = 3
Bia DIP
BHSERET b75 m 7.0 7.000 = 7.000
BEE%
BBV T ¢ 75 [m} 3 7000 / 3.000 = 3
BRE% HPPE
FIIFLUEHRET ¢ 75 m 34 3.400 = 3.400
BRE% HPPE
FIIFLUEHRET ¢ 50 m 24 2.400 = 2400
BEE%
TUHEET ¢ 250 = 1
BEE%
TUHEET ¢ 100 = 1
BEE%
ERAWEL 25 = 1
BEE%
HOFASEHET #® 2
BEE%
ERFAGEHET #® 1
RIS F A BBk REH E] 1
BEEERNE 2RE B 1
BEEERNE BIEE B 1
29597 ERE t -1.25 -1.254
RENE BIlEE t 0.01 0.010
fz 55920
H# ELORS S $100 TAAE VY| 1@ 1
fz 55920
HLORAB S $250 TLAR VY 4t | @ 2
EELT)
H=0.70m
BELXLID BEEREDIPH 100 | m 39 3.9 = 3.9
H=0.70m
BELXIOQ BEEREDIP ¢ 75 m 5.7 5.7 = 5.7
H=1.20m
BELXIOQ BEEREDIP$250 | m 2.6 26 = 26
H=1.20m
BELI® BEEREDIP$250 | m 2.9 2.9 = 29| FHBHTH
H=1.20m
BETIG BESR&DIP ¢ 250HPPE 50| _m 24 24 = 24| mmEm




NO. 7 WATT @ WETT @ WETT [©) WETT @ WETT ®

BRI EBUMET 3.9 “ER L 5.7 “ER L 2.6 “ER L 2.9 “ER L 2.4 =ER L
[EST)) (EH38) (H38) (H38) (H38)
& 7 i % B HEEE

AsEZERR 2.00 7.80 2.00 11. 40 2.00 5.20 ( 24.40)]( 24 )
SEYMT t=15cmAF m

AsEfZERR 0. 60 2.34 0. 60 3.42 0. 60 1.56 ( 7.32)|( 1)
SRR T |t=10cmA T m2

BHO. 28m3 0.45 1.76 0.44 2.51 0. 81 2.1 0.30 0.87 0.29 0.70 ( 7.95)( 8)
AR YE T M+ m3

BHO. 28m3 ( ) ( )
HWHERT BER m3,

BHO. 28m3 0.34 1.33 0.32 1.82 0.80 2.08 0.35 1.02 0.35 0.84 ( 7.09 )| ( 1)
HWHERT FAEL m3,

(RC-30) 0. 60 2.34 0. 60 3.42 0. 60 1.56 ( 7.32)|( 1)
TREET t=10cm m2

(RM-30) 0. 60 2.34 0. 60 3.42 ( 5.76 )| ( 6)
TERET t=12cm m2

BAEZH As13mm 0. 60 2.34 0. 60 3.42 0. 60 1.56 ( 7.32)|( 1)
PR {1818 t=3cm m2

(RC-30) ( K )
ERAET t=10cm m2

B MR As13mm ( K )
PR {1818 t=3cm m2
RitunT 0.07 0.27 0.08 0.46 |-0.08 -0.21 -0.09 -0.26 -0.10 -0.24 ( 0.02 ) ( 0.02)
(8 4tDT m3,
RitunT 0.03 0.12 0.03 0.17 0.02 0.05 ( 0.34)]( 0.3)
(AS) 4tDT m3
2ZAE 0.07 0.27 0.07 0. 40 0.04 0.10 ( 0.77)( 0.8)

A S t




WS = EO FEIE 100 DIP L= 3.9 m

Brigib B = AR H= 0.7 m
EHRE = 0120 X 0120 X x / 4 = 0011
AR = X X z / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.82 — 0.05 )— 0.011 =| m3 0.45
FAEE 1. BHO.28m3
SLNGED  FAERY m3
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.57 = m3 0.34
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
AR T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
HEAA - 045 —( 0.34 =+ 0.90 )= m3 0.07
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.05 = m3 0.03
AL
TR 7/ 0.03 X 235 = m2 0.07




Wi s = MES FEIL

P75 DIP L= 5.7 m

Brigrd B = il () H= 0.7 m
BErlE = 0090 X 009 X x / = 0.006
EEE = X X z / = 0.000
Im249

%5 B 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
b A BEE - 1.00 X 0.60 X( 0.79 — 0.05 )— 0.006 =| m32 0.44
HEET BHO.28m3
LN AR m3 0.00
P AT BHO.28m3
LN T A 1.00 X 0.60 X 0.54 = m3 0.32
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAS 0.44 —( 0.32 + 0.90 )= m3 0.08
FEL AT DT
FEAL TRAT7 N 1.00 X 0.60 X 0.05 = m3 0.03
TN
TR 7N 0.03 X 2.35 = m2 0.07




WrisEsE = BES FEIE 250 DIP L= 2.6 m

Brigig B = B ) H= 1.2 m
EplE = 0270 X 0270 X 1/ = 0.057
EEE = X X z / = 0.000
Im249

% B 7 H = o & g =
BRIECI 1
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEHEIR t=10cmbl F 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
P LA FEET - 1.00 X 0.60 X( 1.47 — 0.03 )— 0.057 =| m3 0.81
HEE T BHO.28m3
LGRS AR m3
HEE T BHO.28m3
LGRS A 1.00 X 0.60 X 1.34 = m3 0.80
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAS 0.81 —( 0.80 + 0.90 )= m3 -0.08
TG 1. 4DT
FEASZ FRT I 1.00 X 0.60 X 0.03 = m3 0.02
TN
TR 7N 0.02 X 2.15 = m2 0.04




WS = E@ FIE 250 2 DIP L= 2.9 m
Brigib B = A AE ) H= 1.2 m
EHRE = 0270 X 0270 X o / 4 = 0.057
AR = X X /4 = 0.000
Im240
% 7 o & =

BT
AsFIHEIR t=15cmEL T m
BULEN A 1
AsEEIEIR t=10cmidL T m2
i T, BHO.28m3
W A PEE A 1.00 X 0.60 X( 0.59 — )— 0.067 =| m3 0.30
HIEE T BHO.28m3
SLNGED  FAERY m3
HIEE 1. BHO.28m3
S NFEIE D A A 1.00 X 0.60 X 059 = m3 0.35
TIESHE T (RC-530)
t=10cm 1.00 X = m2

1.00 X = m2
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X = mZ2
FELAZ T 4iDT WAl 7on -
FHAE L4 0.30 —( 0.35 = 0.90 )= m3 -0.09
FEL A T ADT
FERS TA77/ i 0.00 X 0.00 X 0.00 = m3
AL
TA77 VR 0.00 X 2.35 = m2




Wrigid& 5 = WEE FEIE s0s5 DIP-HPPE L= 2.4 m

Brigib B = A AE ) H= 1.2 m
EHRE = 0270 X 0270 X o / 4 = 0.057
EREEE = 0060 X 0060 X x / 4 = 0.003
Im240
% 7 o & =

EHIELI T
AsFIHEIR t=15cmEL T m
BULEN A 1
AsEEIEIR t=10cmidL T m2
i T, BHO.28m3
W A PEE A 1.00 X 0.60 X( 0.59 — )— 0.060 m3 0.29
HIEE T BHO.28m3
SLNGED  FAERY m3
HIEE 1. BHO.28m3
S NFEIE D A A 1.00 X 0.60 X 059 = m3 0.35
FEHE T (RC-30)
t=10cm mZ2

mZ2
W EE IH (A ERIAs13mm, A 7))
t=3cm mZ2
FELAZ T 4iDT WAl 7N -
FHiAB 14 0.29 —( 0.35 = 0.90 )= m3 -0.10
FEL A T ADT
FEAS TR77/ P 0.00 X 0.00 X 0.00 = m3 0.00
AL
T A7 7 VP 0.00 X 2.35 = m2 0.00




BKE  AREAEIET WELEETR Nob-

il A % 1 2V HALl #E At B E
A 1A A A (3-10) 36.2 AsEEt 36.2 m2
B EGE (5-10-10)  48.0 AsfEt  48.0 m2
HEEmET A R Ve AsTHEERR + t=15emPL T iEARE (5-10) 2.7

=

H3E (5-10-10) 5.9 i 8.6 m m 8.6 9

AsEREERRERE (0hmss - ) [FR A (R GRS
(3-10) FaAKE S
IRERE S

BERRE L (i

pez

THEHF ST £BXy 7.7 o +0.7nf + = 84
THERR WEET FE LY

TR EAET REkY 1.0 nof

GhR RAHET RIFLY 1.6 nf #E 1.0 m3

I =

AsEREERRERE (chmss - ) [FR A (R GRS

(5-10-10) FRAKE A

=
H
i

FHE EEET £E LY 1601 + + 5.7 nd = 21.8 nf
AT F£E LY 6.9 of

e
H
i

=
3&3&3&5{&5&3&3&3&&%
iy

R (Y FHFT AR OS2 L) 12 of
BRI (0% FHF TSR BOE T 2K 5.8 of A 35.7 3
ASHIERERERE (B | irii (5-10) UK 36.2 - GEEM 1.0 — 25.2 o
st (5-10-10) WYKL 45.0 - GUEER 35.7 — 123 o
[N (5-5-10-25) | AREAEIFHR - (b - i
B P - (T - i
G ERE ASHVEN « t-L0emBA T | (RAREERL g, oo R R w | 467 e
S ”72’5&?& I AR R n ﬂi’zﬁf’ﬁ - 375 m2 37.5 38




BKE  AREAEIET WEERTER Nos-2

| ool WO B E2V HAT| ke HEEE
. - N g S W
At = i ¥ WA (9
BEECE T [MEUsE (o) | -1 M st T o - 11w
e o 1 T -2
B EE (5-10-10) 35.7 X 0.03 4+ 1223 X 0.05 = 1.7 m3
e (e 1AL T -2
[EiE HE (5-5-10-25) X 0.03 + X 010 = 0.0 m3
(et 2 o
X 0.03 + X 0.06 = 0.0 m3
AFF 2.8 m3 m3 2.8 3
e Bawm
AsFE TR ( 1.1+ Y X 2.20 t/m3 = 2.4t
S e
( 1.7 + ) x 2.35 t/m3 = 4.0 ¢ A 6.4 ] ot 6.4 6.4
+T el B REl (% &) ( 35.7 + n ) % 0.02 + % 0.07 m3 0.7 0.7
FEA L FEA T m3 0.7 0.7
T2 ANE m3 0.7 0.7
N NS Tl o AR
EEAEIRT | REEEE B HE T - Al A T S A [ R 8.0 + m2 48.0 48
HE o i A
BERT. - MEH 5 A I 36.2 + m | 86.2 36
ST R . = R
EE (i) FPERLRLIZ Q0) - 155em |y i A 1 n2
®E (i) FPEBRIZ Q0 155em |y i A I 8.0 + n2 | 48.0 18
#E (i) FPEBRIZ QO 155em | a0~ @ A B A 3.2 + 2 | 362 36
X iR T T e X T R EHR - [ - W=15emffak m




TiAE T HERIAEE 73 #iEAs-5-10-10
2| ot e TR T & =
2.30 9. 50
3. 60 38. 50

o

5. 90 48. 00
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S5
[

o

As=3-10
fii %

~ - i3
I N A4 [Ht=bcm
il WETE T FH] & 5

e
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2.70 36. 20
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2.70 36. 20
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LERKELEESEXRA=IRSEHR
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e d]

BAEENEAs (13)

T TiEAER §=1/20

3
T oz
TN FUE D [ 0] H Hi H2 H3 & =
+I® ¢ 150 180 600 790 970 920 380 340 HPPE
1@ ¢ 150 180 900 2100 | 2280 | 2250 | 380 1650 HPPE - 82 2 80KARL=2. 5m
+I® ¢ 100 130 600 700 830 780 330 250 HPPE
+I® ¢ 100 130 900 2100 | 2230 | 2180 | 330 1650 HPPE - 82 2 80KARL=2. 5m
+I® @75 90 600 700 790 740 290 250 HPPE
+I® @75 90 900 1470 | 1560 | 1510 | 290 1020 HPPE - 822 80KARL=2. Om

HiE & EAs

®A | REIE

BAEBHEAs (13)
BAEYARAERC-30
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I
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& o
B
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